A1 [m] ] (L IR SR B R B R

e

Btk B
e 7 A — VR
N4 %53
B e & T &
No. | sebbHans 21 i H AR MHEC ) HERZ
1| 9:50 B74X100mRE4EDHE T (4 | 9:10 ~ 9:30[10:10
2| 10:10 £ 74 X 100mREEDH T3 (4fH) | 9:30 ~ 9:50] ( 9:30 ~ 9:50) |10:10
3] 10:30 514X 100mR4-54F-DH RF(24H) | 9:50 ~ 10:10 B EVREBEOREE|  ( 9:30 ~  9:50)
4] 10:40 %14 X 100mR4 - 54EDHE; Wb (148)  [10:00 ~ 10:20{10:10 BFI TR BT B
5/ 10:50 %1 100m64=0#;1-5% (9f8) |10:10 ~ 10:30] ( 9:30 ~ 9:50)
6] 11:15 Z+F100m6LEDE T 5 (TH#) [10:35 ~ 10:55 BrEEBOWE 11:00
71 11:35 5-1100m4 - 54FDH i3 (5%1) |10:55 ~ 11:15 ( 10:20 ~ 10:40)
8| 11:50 ZF+100m4SEDEL T (G [11:10 ~ 11:30]11:30 17 MR — VB TR
9 12:20 % +60mH T (2%0) |11:40 ~ 12:00] ( 10:50 ~ 11:10)
10 12:25 B -160mH Ti%& (3#) [11:45 ~ 12:05 LB @B O B
11| 12:50 %&¥-800mikfE (2#) [12:10 ~ 12:30{12:00
12| 13:05 %+1000m (1) |12:25 ~ 12:45| ( 11:20 ~ 11:40)
13| 13:25 Z1100m4 - 5EDER 12:45 ~ 13:05 L EDIEBEOVR B
14| 13:30 % 7100m4 - 54D HE R 12:50 ~ 13:10
15| 13:35 Z-1100m64=DH 12:55 ~ 13:15
16 13:40 % 1100m64FEDH R 13:00 ~ 13:20
17 14:00 % ¥80mH & 13:20 ~ 13:40
18| 14:05 %-F80mH W% 13:25 ~ 13:45
19| 14:15 %&-60mH & 13:35 ~ 13:55
20| 14:20 %--60mH M 13:40 ~ 14:00
14:25 2V —2 %A L
21| 14:40 % 74X 100mR64EDL el 14:00 ~ 14:20
22| 14:45 BF4X100mRE4FEDER P 14:05 ~ 14:25

15:00 P&




